Isotopes & Nuclear Reactions

Fill in all blanks.

# Protons # Neutrons Mass # Atomic #
L {yMn 25 20 55 zs
2. 1%cd g - , Jg
[] 1 i (15 J
3.4V 92 14z 224 92
4. pcr 24 29 sz 24

a/p Decay
Decay type name

o
5. 35U - (Fie) + 27

~
0 234 VA

6. €'m)—>_ e + % Pa e
7. % Ra—> jHe + (5#n) oL
% o 0 218 o

8. (8)—>_e + yPo 5

o
9. %5Th— tHe + (5%) 3

Fill in the missing information in this decay series.

A Name of type of decay
10. 25U — (S He) + 2Th e

\

1. @5)—> e + 2pa fe
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12. (f?f@ = ((e)+ U ;)}

\

3 ;
13. 5}U > {He +,m) x
14. 1) - (4#) + ZRa o

15. 5 Ra> [He + ({ y1) X
16. ({2 ) S (5 He) + 22po X

17. %3P0 = %e + G529




Nuclear Reactions

Write the nuclear reaction for the alpha decay of %;Pa.
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Write the nuclear reaction for the beta decay of % Fr.
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. Write the nuclear reaction for the alpha decay of Sm.

“a g - i"‘f? ;
[ Y He + f\f({ )
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Write the nuclear reaction of $Sm that undergoes 2 alpha decays.
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Werite the nuclear reaction of fAt that undergoes 2 beta decays.
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7. Write the nuclear reacTion of 6d that undergoes 1 alpha and 2 beta
: q
decays. fi Qo —> H@ + ;L Sm
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8. Write ’rhe nuclear' reac‘rlon of ZXe that undergoes 2 alpha and 1 beta
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decay.
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If 2Cs decays into 1°8Ag then how many alpha decays has it

undergone?
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